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Can Shrinking Warehouse Space Caused by Rapidly Increasing In-
ventory Levels Put the Squeeze on Productivity?

Tracking Space Utilization against Productivity is a Critical DC Metric

Cliff Holste, SCDigest Materials Handling Editor

As every distribution center manager knows,
overcrowding in the DC can increase cost and cause
many operational headaches. Crowded, unorganized
areas become "“black holes” for missing products.
Crowded areas also cause increased damage to
product that is often disposed of without inventory
corrections being made. High-density storage makes
it very difficult to accurately count the product. All of
which and more leads to inventory accuracy issues
and higher operating cost.

However, what may not be so obvious is the effect
that shrinking storage space has on labor productiv-
ity. But if your productivity is showing signs of de-
cline while space is getting tight, it may be time to
illustrate to upper management how tightly these
two variables can correlate. In fact, small increases
in space utilization above a “tipping point” can often
lead to much steeper declines in productivity.

The simple key to understanding this relationship is
keeping track of both productivity and space utiliza-
tion over time.

An example of how this data can be used is shown in
the graphic on page 2, provided to SCDigest by Fred
Kimball of Distribution Design, Inc. Based on actual
data from a manufacturing company with a ware-
house that supports manufacturing materials as well
as finished goods for customers, it clearly shows how
productivity declined as inventory grew and space
got tighter.

In this graphic:

“Inventory” was measured as pallets on hand at the
end of each month.
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Companies that keep track of the rela-
tionship between storage utilization and
productivity rates should be able to not
only show management what the true
costs of stuffing the DC with pallets are,
but also how the DC additional costs
might be balanced against outside stor-
age costs.

“Productivity” was calculated as lines shipped per
person per hour. This was the gross productivity
measurement for the DC calculated by “all of the
work” divided by “all of the labor” (including tem-
porary and overtime). Productivity was expressed
using this metric since all of the work supporting
manufacturing, receiving, putaway, etc., was
needed prior to shipping a customer order. This is
also why the lines shipped per hour was in the low
single digits; there were many tasks done by dis-
tribution personnel in this operation that are un-
common to many distribution centers.

In this specific example, it is clear that as inven-
tory increased during the period, productivity de-
clined, and at an accelerated rate. While inventory
increased by 7% at the peak in an already
crowded warehouse, productivity declined much
faster, by 26%.

Kimball says that when it gets to the point that
pallets are being in aisles, it is common that a lift
truck operator might have to move as many as
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Can Shrinking Warehouse Space Caused by Rapidly Increasing Inventory Levels Put
the Squeeze on Productivity? (Con't)

Manufacturing Company
Inventory and Productivity
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three pallets to get to the one that is needed. and the dynamic nature of distribution has an ever-

Then, the operator has to set down the needed changing mix of variables, the premise is clear that if a

pallet and move the three pallets back before facility lacks sufficient space for peak needs and inven-

picking up the needed pallet again. Instead of tory grows, productivity will decline.

one touch to get the pallet, there are as many

as seven touches, and the aisle is blocked to This then begs an interesting question: when if at all is it

other lift trucks as this is happening. more cost effective to utilize outside storage to reduce
over capacity and increase productivity?

On the other hand, when there is still ample

storage space available at peak inventory, the Companies that keep track of the relationship between

productivity should not decline, at least not due storage utilization and productivity rates should be able

to space getting tighter. to not only show management what the true costs of
stuffing the DC with pallets are, but also how the DC ad-

While recognizing that every facility is different, ditional costs might be balanced against outside storage
costs.
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